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Homework #2

Due August 31, 2001

Problem 2.20 from the text.

Problem 2.21 from the text. For part (c) use the MATLAB stem routine to plot the function for at |east
two periods, and show that the function does repeat.

Problem 2.26 (a) (b) (e) (f) from the text.
Problem 2.33 from the text.
Problem 2.34 from the text.
Problem 2.44 from the text.

Consider the interconnection of LTI systems shown below:

(]

Y

Y

x{n] —>= hnl (5> yin]
L g[n] e h4[n] J

(8) Expresstheoverall impulse response h[n] interms of hi[n], ha[n], hs[n]|. and hy[n].
(b) Determine h[n] when

hiln] = 36[n] + 16[n — 1]+ 36[n — 2]
ho[n] = 3d[n] + 50[n — 3]

hs[n] = d[n]

haln] = 20[n+1] —56[n — 1]

(c) Determine the output of the system when the input is

z[n] = 36[n + 2] — 26[n — 1] 4 é[n — 3]



